10118 (KlOCng)

< Linearized knot diagam

N

<<
\>ﬂ o/

9

2/—
/
7 1\
/ Solving Sequence
3

i g ——>2——90—> 95— — 6 —> C2,Cs5,C
A knot d1agrarrE| 4,7 cr 1.8 1 2 a 5 c3 3 o 10 o 6 o 9 —> C2,C5,C8

Ideals for irreducible component#ﬂ)f Xpar

I = (2.17049 x 10'2845° 4+ 7.04965 x 102845 4 - 4+ 1.13515 x 10'%%b 4 3.31225 x 10'%8,
—6.03461 x 101%%4°5 — 1.05486 x 1013%°% 4 ... +3.29192 x 104 + 8.03066 x 103!,
u®% + 305 + -+ — 86u — 29)

I = (u" —u® 4 2u* + 203 + 3u® + 20— 1, 20" —u® — u® + 5u* + 3u® + 3u® 4 20 + 2,
u® —ub 4 205 + 3ut +2u® —u? + 1)

* 2 irreducible components of dim¢ = 0, with total 64 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I I* = (2.17 x 10"284°5 + 7.05 x 10'284%4 + ..

.4 1.14 x 1029 + 3.31 %

10128, —6.03 x 1022455 — 1.05 x 10130454 4 ... 4+ 3.29 x 10'3%a + 8.03 X
10131, 456 4+ 3u55 + ... — 86u — 29)
(i) Arc colorings
0
aq =
= (o )
0.183316u + 0.320439u°* + - - - — 36.3951u — 24.3951
a1 = \ —0.1912084%® — 0.621035u* + - - - — 24.1471u — 0.291791
o= ()
0.329942u% + 0.877435u’* + - - - + 2.17359u — 17.4475
az = \ —0.228740u° — 0.774692u5* + - - - — 38.4713u — 3.68817
0.00194160u%° + 0.125899u5* + - - - + 24.9331u — 7.18816
as = \ —0.0511468u° — 0.283014u5* + - - - — 27.4710u — 5.28083
—0.143680u® — 0.426284u%* + - - — 13.1771u — 13.3885
as 0.0842120u°® + 0.155045u° + - - - — 15.2642u — 4.53960
0.374524u°® + 0.941474u5% + - - - — 12.2480u — 24.1033
—0.191208u%® — 0.621035u5* + - -+ — 24.1471u — 0.291791
—0.225711u5%% — 0.655623u®* + - - - + 8.05046u — 6.26808
0.0691731u%° + 0.270220u°% + - - - + 4.64014u + 4.46620
—0.120671u%® — 0.252131u%* + - - - + 25.1490u — 10.2596
a9 = \ —0.0170410u5® — 0.154222u°* + - - - — 24.0061u — 3.26683
(ii) Obstruction class = —1

(iii) Cusp Shapes = —0.0612869u°° — 0.0909872u5* + - - -

— 11.4095u — 14.5506



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

c1 u%% 4+ 3u®® + - — 86u — 29
C2 b — o —12u 41
s u +3u - —23u+1
¢4 u’® — 3u® 4 4+ 23u+ 1

Cs,C8 w4+ w4 =2l — 1

Cg, C10 Wl -+ 2lu—1
e uPS — 3u”5 + - - 4 86u — 29
€9 ub — Pt 4 4120+ 1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
ey 07 Yo% — 13y + ... — 26246y + 841
2, Cy Y% — 295 4. — 526y + 1
c3,C4 y°% + 595 + ... — 155y + 1
Cs5,Cq, C8 y50741y55+791y+1
C10




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

u = —0.783480 + 0.6274611
a= 0.378022 — 0.3910501
b = —0.230315 4 0.038880.1

1.26494 — 1.269501

4.50876 + 0.891061

u = —0.783480 — 0.6274611
0.378022 + 0.3910501
b= —0.230315 — 0.0388801

1.26494 + 1.269501

4.50876 — 0.891061

u = —0.867481 + 0.4658331
a = —0.535992 — 1.0677201
b= —0.486169 — 0.7195761

—3.60092 — 1.797831

—4.19052 + 2.408691

u = —0.867481 — 0.4658331
a = —0.535992 4 1.0677201
b= —0.486169 4 0.719576.1

—3.60092 + 1.797831

—4.19052 — 2.408691

= 0.671481 + 0.7140281
—0.790076 — 0.9707191

—0.1029550 — 0.06793571

—1.91385 + 4.838501

—2.53419 — 6.957291

0.671481 — 0.7140281
= —0.790076 + 0.9707191

U
a
b
U
a
b

= —0.1029550 + 0.06793571

—1.91385 — 4.838501

—2.53419 4 6.957291

—0.907848 4+ 0.3250171
—0.02327 — 1.455671
1.32128 — 0.525611

2.56248 — 7.321141

3.13433 + 7.291871

—0.907848 — 0.3250171
—0.02327 + 1.455671
1.32128 + 0.525611

2.56248 + 7.321141

3.13433 — 7.291871

0.614585 + 0.6600881
0.771966 — 0.3678151
0.794571 — 0.2471781

—3.06725 — 0.911061

—2.78612 + 2.042561

0.614585 — 0.6600881
0.771966 + 0.3678151
0.794571 + 0.2471781

> & €|l & 8|l & 8| & &

—3.06725 4 0.911061

—2.78612 — 2.042561




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

= 0.495818 4 0.9854807
= —0.66594 — 1.425201
—1.291500 — 0.2941181

—1.18098 + 5.455071

—4.29936 — 4.754011

0.495818 — 0.9854801
= —0.66594 + 1.425201
—1.291500 4 0.2941181

—1.18098 — 5.455071

—4.29936 + 4.754011

= —1.048230 + 0.4004991
= 0.072661 + 0.6521971
—1.230370 4 0.1090871

3.06725 — 0.911061

2.78612 + 2.042561

—1.048230 — 0.4004991
0.072661 — 0.6521971
—1.230370 — 0.1090871

u
a
b
u
a
b
u
a
b
u
a
b

3.06725 + 0.911061

2.78612 — 2.042561

u = —1.13343
a= 135973
b= —1.44691

1.54290

6.38460

u = —0.874453 + 0.7683271
a= 0.122940 — 1.4065501
b= 1.197120 — 0.3036091

1.91385 — 4.838501

2.53419 4 6.957291

u = —0.874453 — 0.7683271
a= 0.122940 + 1.4065501
b= 1.197120 + 0.3036091

1.91385 + 4.838501

2.53419 — 6.957291

u=0.987700 + 0.6481751
0.09787 — 1.653191
b= —1.007190 — 0.3702801

a =

—2.03150 + 6.022801

—3.73094 — 6.758931

0.987700 — 0.6481751
0.09787 + 1.653191

u =

a =

—2.03150 — 6.022801

—3.73094 + 6.758931

b= —1.007190 + 0.3702801
u = —0.330263 + 0.7479201
a= 0.02506 — 1.661181 —5.38278 — 1.947091 | —9.07863 + 3.783221
b= 0.063233 — 0.6548161




Solutions to I7*

V=1(vol + v=1CS)

Cusp shape

= —0.330263 — 0.7479201
0.02506 + 1.661181
0.063233 + 0.6548161

—5.38278 + 1.947091

—9.07863 — 3.783221

—0.768372 4 0.9127581
0.078803 + 0.7134541
—0.213245 4 1.1964701

—3.962821

0.+ 12.033461

—0.768372 — 0.9127581
0.078803 — 0.7134541
—0.213245 — 1.1964701

3.962821

0. —12.033461

0.768710 + 0.0808531
—1.18088 + 1.644941
1.224820 — 0.0665571

> Q2 €|l @ €|l & €|l & &

5.38278 — 1.947091

9.07863 + 3.783221

0.768710 — 0.0808531
—1.18088 — 1.644941
1.224820 + 0.0665571

ﬂ
e
I

> R
Il

5.38278 +1.947091

9.07863 — 3.783221

—0.417667 + 0.5873721
—0.020230 + 0.4136801
1.13926 + 1.009381

ﬂ
e
I

—2.12732 — 2.991861

—13.6584 4 6.91701

—0.417667 — 0.5873721
—0.020230 — 0.4136801
1.13926 — 1.009381

—2.12732 + 2.991861

—13.6584 — 6.91701

= —1.28361
= —1.43131
= 0.991270

~ o | & g|o 9
|

—3.28334

—1.95800

0.695004 + 0.1721071
0.37195 — 1.392101
—1.46649 — 0.466911

5.06898 + 2.945651

6.46008 — 3.657841

0.695004 — 0.1721071
= 0.37195 4+ 1.392101
—1.46649 + 0.466911

> QR £l 2 &

5.06898 — 2.945651

6.46008 + 3.657841




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

0.951068 + 0.8993531

= —0.187043 + 0.8736951 | —5.00346 + 9.833711 0
= 0.179049 + 1.1201901
= 0.951068 — 0.8993531
= —0.187043 — 0.8736951 | —5.00346 — 9.833711 0

0.179049 — 1.1201901

0.531582 + 0.4188771
0.345342 — 1.3047701
0.165425 — 0.6414831

—1.26494 + 1.269501

—4.50876 — 0.891061

0.531582 — 0.4188771
0.345342 + 1.3047701
0.165425 + 0.6414831

—1.26494 — 1.269501

—4.50876 + 0.891061

—0.246039 + 1.3303301
—0.109393 + 0.2016851
= —0.925946 + 0.3652811

1.17763 — 1.908331

—0.246039 — 1.3303301
—0.109393 — 0.2016851
—0.925946 — 0.3652811

1.17763 + 1.908331

1.36704
—0.0603515
1.39639

3.28334

0.606940 + 0.0921671
0.587067 + 0.9570071
0.141834 + 0.9202361

—1.17763 — 1.908331

2.60907 4 2.190681

0.606940 — 0.0921671
0.587067 — 0.9570071
0.141834 — 0.9202361

—1.17763 + 1.908331

2.60907 — 2.190681

0.964815 + 1.0091201
= —0.473801 + 0.5329807
= 0.301392 4 0.7970951

> 2 €|l 2 8| @ 8| 2 8|l & 8| & 8| 2 8|l 2 8| & 8> o =&
|

—5.06898 — 2.945651




Solutions to I} Vv—1(vol +/—1CS) Cusp shape
= 0.964815 — 1.0091201
= —0.473801 — 0.5329807 | —5.06898 + 2.945651 0

0.301392 — 0.7970951

—0.584292 4 0.0888441
0.95463 + 3.538611
—1.181570 — 0.0955491

1.18098 + 5.455071

4.29936 — 4.754011

—0.584292 — 0.0888441
0.95463 — 3.538611
—1.181570 4 0.0955491

1.18098 — 5.455071

4.29936 + 4.754011

—1.29911 + 0.910251
0.216573 + 1.0730801
—1.42481 + 0.500521

— 15.54521

—1.29911 — 0.910251
0.216573 — 1.0730801
= —1.42481 — 0.500521

15.54521

1.33347 + 0.883821
—0.220110 + 0.9118697
1.41775 + 0.509031

5.00346 + 9.833711

1.33347 — 0.883821
—0.220110 — 0.9118691
1.41775 — 0.509031

5.00346 — 9.833711

—0.44552 + 1.557851
0.212043 + 0.1912321
1.114910 4 0.3954671

—2.56248 + 7.321141

—0.44552 — 1.557851
0.212043 — 0.1912321
1.114910 — 0.3954671

—2.56248 — 7.321141

—1.16393 + 1.163181
0.188659 — 0.8209531
1.234890 — 0.1359151

> Q& €|l & €|l & €| Q& €| 2 &) Q@ 8| Q@ €|l & €|l & &> & &
|

2.03150 — 6.022801




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

uw=—1.16393 — 1.163181
a = 0.188659 + 0.8209531
b= 1.234890 + 0.1359151

2.03150 + 6.022801

u = —1.34569 4 0.948751
a= 0.236623 + 0.5969571
b= —1.32213 + 0.647891

2.12732 — 2.991861

u = —1.34569 — 0.948751
a= 0.236623 — 0.5969571
b= —1.32213 — 0.647891

2.12732 4 2.991861

u = —0.299877
a = —4.00586
b= 1.49366

—1.54290

—6.38460

u= 1636144 0.858171
a= 0.236114 — 0.5481731
b = —1.130060 — 0.0651591

3.60092 + 1.797831

u= 163614 — 0.858171
a= 0.236114 + 0.5481731
b = —1.130060 + 0.0651591

3.60092 — 1.797831
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IL I¥ = (u” — u® + 2u* + 2u® + 3u? + 2b — 1, 20" — u® — u® + 5u? 4 3u® +
3u? + 2a + 2, u® — ub + 2u® + 3u* + 2u® —u? + 1)

(i) Arc colorings

o ()

a7 =
[
ag =

ag =

(
(
(
(1 7_ 1 3
- (_Qluuf)—fu +~--+2u+1)
(
(
(

(ii) Obstruction class =1

(iii) Cusp Shapes = —4u” + u5 + v® — 5u* — 10u® — 14u? + 4u — 1
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1 wd—ub — 205 +3ut — 20— 41
C2 W+ ul e -2t =P -3 —2u—1
€3 u® 4+ 4u” + 100’ + 16u° + 15u* + 8u® +u? —u —1
C4 u® — 4u” + 100’ — 16u° + 15u* —8u® + w2 +u —1
c5,C10 w—3u® —w +dut + 30 -3 —3u+1
Cg, C8 = 3ul +ud +4ut — 3w -3+ 3u+1
cr W=+ 205 +3ut + 20—+ 1
€9 Wt u +ub - =2t ud -3+ 2u—1

12



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,C7 ¥ =2+ — 125 + 5yt — 128+ Ty — 29+ 1
€2, ¢ y " —y® = 13y° — 6y" +13y° + 9y + 2y + 1
3,4 Y Ay + 2% —18y°5 — 5yt —229° —13y2 — 3y +1
€5 Cﬁ’:z y® — 6y7 + 17y% — 31y° + 42y* — 45y% + 35y% — 15y + 1
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(vi) Complex Volumes and Cusp Shapes

Solutions to I3 V—1(vol + /—1CS) Cusp shape
u = —0.564069 + 0.8257281
a= 1.16899 — 1.404081 — 6.391561 0.+ 8.176441

b= 1.168990 — 0.2473741

u = —0.564069 — 0.8257281

a= 1.16899 + 1.404081 6.391561 0. —8.176441
b= 1.168990 + 0.2473741

u = —0.747139

a = —1.89022 —4.69721 —8.73000

b= —0.283291

u = —1.33844

a= 0.308010 4.69721 8.73000

b= —1.29891

u= 0.468348 + 0.4382001

a = —0.445605 — 1.0057101 | —1.62267 + 2.996631 2.80411 — 6.127181

b= 10.737885 — 0.8548351

u= 0.468348 — 0.4382001
a = —0.445605 + 1.0057101 | —1.62267 — 2.996631 2.80411 4 6.127181
b= 0.737885 + 0.8548351

uw = 1.13851 + 1.065221
a= 0.067722 — 0.6485891 1.62267 + 2.996631 —2.80411 — 6.127181
b= —1.115770 — 0.4977121

uw= 1.13851 — 1.065221
a= 0.067722 4 0.6485891 1.62267 — 2.996631 —2.80411 + 6.127181
b= —1.115770 + 0.4977121
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing
! (u® —ub — 2u° + 3u? — 2u® — w? + 1) (u®® + 3u® + - - — 86u — 29)
2 (u® —u" 4+ —2u— 1) =P+ — 120+ 1)
cs (u® + 4u™ + 10u® + 16u° + 15u* + 8u® + u? —u — 1)
(w4 3u 4 —23u 4+ 1)
c u® — 4u” + 10u8 — 16u° + 15u* — 8u® +u? +u—1
4
S(u®® = 3u 4 4 23u 4+ 1)
Cs (u® = 3u® + - —3u+1) (W +u® 4 —21u—1)
C6 (u® —3uS + -+ 3u+ 1)(W® —u® -+ 21u—1)
cr (u® —ub + 2u® + 3u + 203 — u® 4 1) (u®® — 3u® + - + 86u — 29)
Cs (u® = 3u® + - +3u+1) (W +u> 4 —2lu—1)
Co (W +u” + -+ 2u— 1) — ™+ 1204 1)
c10 (u® —3uS + - —3u+ 1)(w® —u® -+ 21u—1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1, e (y® — 29" + 798 — 1295 + 5y —120° + T2 — 2y + 1)
- (y°® — 13y® + - .- — 26246y + 841)
Ca. Co (W +y" —y® —13y° —6y" +13y° + 9y° + 2y + 1)
(Y — 2y + - — 526y + 1)
cs, Ca (y® 4+ 4y” + 298 — 18y° — 5y* — 22¢° — 132 — 3y + 1)
(Y0 457+ — 155y + 1)
Cs,C6, C8 (y® — 6y" 4+ 17y° — 31y° + 42y* — 45y° + 35y — 15y + 1)
c10 (P8 — 41y 4 =91y + 1)
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